fpy — 2 A

FEISEIHRN ETT=REMIEREMR)
FEEHNREK
(B) ¥29F4H18 (¥) Fr304£3A31H
(8417 : )
BEre HERASE AEEE NESE &t PRERERB R EIN-
RABEIGS 150, 660, 722 150, 660, 722 150, 660, 722
| 0 0
| EREEEH RN 0 0
#| " zothoumzs 0 0
| L [p—tzammmasit (1) 150, 660, 722 0 0 150, 660, 722 0 150, 660, 722
e (A 109, 580, 945 109, 580, 945 109, 580, 945
o |z 18, 251,084 18,251,084 18,251,084
T 10.853. 071 10, 853, 071 10.853. 071
B |msEmREm 0 0
o |wEsewm 0 0
1| B P cimeman 0 0
| | im0 13.978.794 13,978,794 13.978.794
o |BEmEEEEERET SR 3,262,992 -3, 262, 992 -3, 262, 992
o |eomrsess 0 0
R I ES R E PN 0 0
ZothoTm 0 0
|_[v-rxameimst (2) 149,400, 902 0 0 149,400, 902 0 149,400, 902
TEBIEAER (3) = (1) — (2) 1,259, 820 0 0 1,259, 820 0 1,259, 820
BARFIBRIRINE 0 0
[GTeS e 16. 896 16. 896 16. 896
0 0
5 0 0
W s A 25 AT 0 0
| | | mammr s 0 0
E|  |mAntmsmmin 0 0
2| | arms 0 0
| |zothon-txEmsRas 264, 141 264, 141 264, 141
g [P—CXEBIITSEE (4) 281,037 0 0 281,037 0 281,037
o [EAE 0 0
N |amEsmE 0 0
B | afmEssE 0 0
| gl B AT 0 0
0| | EEE G DR 0 0
| | BB 0 0
HiT AR ST 0 0
ZOMOY—F ZEBONEA 0 0
H-EXEBSEIE (5) 0 0 0 0 0
BHEEES (6) = (&) — (5) 281,037 0 281,037 0 281,037
iE2E (7) = (3) + (6) 1,540,857 0 1,540,857 0 1,540,857
L TS 0 0
RS A R URES 0 0
BT G A ST S ARSI 0 0
EF AR 0 0
R [ER T 0 0
| BRE MG RIS 0 0
WX AT SR EIS 0 0
| |ZomoRRRas 2,135,400 2,135,400 2. 135,400
o [P=taEamEm e 43.800 43,800 43,800
ml_%suumzf (8) 2.179. 200 0 0 2.179. 200 0 2.179. 200
R 0 0
W @b 0 0
o| |Ew@mEsmE- s 0 0
| |EEmmesERETemEE (80%) 0 0
5| EUBHEN S S RIR T A TSE 0 0
PESIE 0 0
BEXAMDASTA 0 0
BERAMETAEBENA 0 0
ZOMDIERIAK 299, 260 299, 260 299, 260
H-PAXAMEA S 43.800 43. 800 43,800
4SRIEAE (9) 43,060 0 43,060 0 43,060
TERIEHES (10) = (8) — (9) 36140 0 1.836.140 0 1.836.140
EBIEEEE (11) = (7) + (10) 376,997 0 376,997 0 376,997
BEAGHE SR (12) 204, 744, 871 204, 744, 871 204, 744, 871
: [umpmaEmpEaEm (13) = (11) + (12) 208,121, 868 0 0 208, 121, 868 0 208, 121, 868
© [BA@ g (14) 0 0
© [zofthoms7 SERHER (15) 0 0
! (oMo HTER (16) 10.000. 000 70.000. 000 10.000. 000
L [rems@stsnem=ss (17) = (13) + (14) + (15) - (16) 198, 121,868 0 0 198, 121,868 0 798, 121,868




